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B.A./B.Sc. (General) 5" Semester
- 1128

PSYCHOLOGY

Paper—Clinical Psyschology (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 70
Note :— Attempt five questions in all, choosing one question each

from Units I to IV and Q. No. 1, which is compulsory. All
questions carry equal marks. :

1. Write short notes on any seven of the following :

)
2)
€))
4)
)
(6)
)
®)
©)

ICD-10

Regression

Stressor

Null Hypothesis

T-ratio

Ego Defense Mechanisms
Schemas

Standard Error
Trephination

(10) Displacement and Sublimation

(11) Parenting Styles
(12) Exhaustion. 2x7=14
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UNIT-1

2. Write a detailed note on psychodynamic approach to abnormality.

14

3. Trace the important historical milestones in understanding

abnormality. 14
UNIT-1I

4.  Discuss the psychosocial causes of abnormal behavior. 14

5. Highlight the role of biological eticlogical factors in abnormal

behavior. 7 14
UNIT-III

6. Write a detailed note on different coping strategies to counter

stress. 14

7.  Discuss the dynamics of stress. Explain the physiological effects

of stress, highlighting the GAS model of stress. 14
UNIT-IV

8.  Find the correlation between the following two sets of scores using
the product moment method and also interpret the coeffficient :

Test X: 15 18 22 17 19 20 .16 2i
TestY: 40 42 50 45 43 46 41 41 14

9.  Theachievement of two groups of first-year high school boys, the
one from an academic, and the other from a technical high school,

is compared on a mechanical aptitude test. The two groups are
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matched for mean and SD upon a general intelligence test so that
the experiment becomes one of comparing the mechanical aptitude
scores of two groups of boys ot: 'equal’ general intelligence enrolled
in different courses of study. Do the two groups differ in mean
ability ?

Academic  Technical

No. of boys in each group 125 137
Means on intelligence Test (Y) 102.50 102.80
SD onintelligence Test (Y) 33.65 31.62
Means on Mechanical Ability Test (X) 51.42 54.38
SD on Mechanical Ability Test (X) 6.24 7.14
Correlation between the General Intelligence Test and the Mechanical
Ability Test for first year high school boys is .30. 14
(fe=r wmem)

AT~ IF IV F 93F ¥ § T 99 X, qd 9o qe
151 & Iad 2 & ofdd &, @f ¥ § 9w g
odl

1. B # § f8 9 @i Al #% -

(1) sEHE-10
(2) gfamHA
(3) TamE .
(4) T U
(5) A-3rgua
(6) 3IBHR & A
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(7) =

®) W AR

(9) <HMA (Trephination)

(10) e X ufkenas

(11) Rfew ot

(12) I | : 2x7=14 .

-1

. ygEEEa & fog A fhr Rogs gResw wowh fawga

AT ford | 14

3. MM @A gHE H ey eive Wid w1 oger

(Milestones) sdTU | 14
Ffre—11

. ¥GMEY AR P HAIGHING SRl X "9 el 14

. Y EeR H Afdd rioeher HIRh H1 DT H IR
FY | 14
afe—III

. @ & g w @ fog [ s ol )

faega e ford | 14

. @9 & TfefasE W o=l w999 ® SLUUH. Hisd @

IR A0 gL a9 B WHRG TAHEl a arer &1 |
14

-1V

. IR W Ry w1 I we @R & FEkiih @ e

# o geded Wi HL AR OE Al e A Fw
Test Xz~ 45 . 185 22 P 190200786 21
TestY: 40 42 50 45 43 46 41 41 14
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|ﬁmwwgﬁa'm?qﬁm
W A @S B g Per fn S @ s s st
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AT THE A ds@l @ "er 125 137
gfg Tdemr (Y) ) Ae 102.50 102.80
g Tl (Y) | @I 33.65 31.62
Ao gHar qdem (X)W "y 51.42 54.38
AAHd aar 9OEv (X) W WESL  6.24 7.14
g a9 BTG ASH! @ forq WY gfg The X At
AT TS & ey weweyw 308 7 14
(et nigere)

32— gfse 13 IV 9 o3v R fEa yms a3 »i3 yAs 389

I.

1 7 fx oot 3 & T a9a, Afant 9 da yis &9
I A3 Atz 3¢ fou
(1) »retArst-10
(2) 3II9HE
(B) sEm
4) 3 ufgasusT
(5) Zr-nizus
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©6) TR Fhmr d39

(1) mefhr

8) As9s TuH |
(9) 2<13H& (Trephination)
(10) fergus »3 ufgRus

(11) AT Aot

(12) garee| 2x7=14
gfse-1

WATEEST Yt HeR-fafonr ferwa ferdias a9 fEa ferfss

3c foui 14

WHATOEEST § AMSE SBE HdSeyds fefsora Himdeat

(Milestones) €T U3T &g | 14
gfee-II

Wméémﬁamaﬁmaél 14
wiAOgE fesog feu me-fefmmsa fededlas agat @t

gl & A9 &1 14
- gfee-II

I € TS BET Y- Jflar IEBIEMT 3 ferfsz de fad

14

Iz & 3T fefomis & 999 &9 3w @ ALEMA. HES
8 BAde ade J¥ 3= € ASigx yget & fenrfimm ad|
14
gfee-Iv
83U uw feul ¥t 293" q9a Aa9 © forsfeiys € Aet fegaa
Afoddu famrs a9 w3 g & fenrfinr &9 -
Test X: 15 18 22 17 19 20 16 21

TestY: 40 42 50 45 43 46 41 41
14

0431/EPY-10648(T) 6



9. ufgd A T TEt FEE At @ € Ayt @ QusEd, R
mﬁmm%eﬁma?wmzfewé&aﬁm
muﬁu&%maﬁﬁwalwwwmaﬁm
ua?uzs%ﬁwm%ﬂn.s’t@aéfﬂ&aﬁwwz’raﬁw,
niftls T y-3y g’ €9 aHifa3 g9ae Aues gut ©
Higwt @ € AHTT € HAAIG® WS AA9 ©f 3BeT feg fEa
¥ 7| & € AYT YRS AHIE 3 Y T6 ?

mefHa 3Tt
I9 AHT &g Hfanit &t wftpar 125 137
gt udhuz (Y) 3 His 102.50 102.80
gat ydhuz (Y) 3 wAst 33.65 31.62
Hala® AHIET ydtus (X) 3 His 5142  54.38
Haale® AHIET udthe (X) 3 »Ash 6.24 7.14
ufod A Tt A ifsnr BE nid gt udhiE w3 HABTES
AHIE™ udhys @ fegaw Aforga 30 3 | 14
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